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Improved it — %l

Overview

717 M posed a query; if someone sold his *1v1> 72¥ to a *721 and then died, do we
penalize his son to redeem the slave from the 731 or not. "oX "1 resolved this query
from a 71wn which stated that if one improved (7712%%w12) his field on Ny 2w, he may
not plant it on n°¥ 2w *X¥¥, and X1°117 "2 °01 " concluded that we only penalize the
father but not the son. The same will apply by selling the 72v, that the son is not
penalized. There is a dispute between *"w1 and N1d0IN as to the meaning of 72°v1.

= YT o9V NPa YYD
>'"w4 explained that 72°v1 means that the field was fertilized.

nvoIN asks on °"'wAo;
= (3,79 91 PPYITPIND DIV P92 11191522 N3 VIV Y590 2XIN 12T NIDIN NIT AV

And there is a difficulty with >"w"9, since fertilizing a field on n°¥°2w is merely
prohibited 32972, so how did the X »3, in M9192 NJon in PRWIPIAT 10D PIB,

resolve from this ruling by n°v>aw, regarding the case -
= INFIPIIINT NIIDON N7 3N DISN

Of nicking the ear of a M52, which is a 7790 prohibition?!

An additional difficulty with *"w92:
= 611399 VIV 951 MNNN DYDY YPOI RIN 5199

And similarly here where he denies the 72v the ability to do nx»; how can we

o1 .
2 7mn7 11 one is prohibited from plowing, seeding and harvesting on n°¥>aw, but not fertilizing.
3 One is forbidden from inflicting a o1 on a 7133, and if he did so he is forbidden to vnw and eat it; (one may eat a 1132
only if it happens to receive a 0¥ on its own). The &1 there queried what is the ruling if the father made the 0w and
died, whether the son may eat the 7122 The & n3 there resolved the query from this same case of n°v>aw, that just like
by n*y 2w we do not penalize the son where 71201, the same by 7122 that we do not penalize him if the father was o7x
22 K.
4 How can we resolve the query by ™22 1% 078 (whether we penalize the son), which is a (stricter) 7710 prohibition,
from the fact that we do not penalize the son by 71201 which is a more lenient 131277 Mo°X?! See ‘Thinking it over’.
5> Granted that selling a slave to a »21 is also only an 71277 MO°X, so therefore the previous question by 7192 does not
apply to 72y, nevertheless there is still a difficulty, as to how we can derive 72y from n°y"aw.
6 See previous on71 "7 'o1n that the X773 in M7122 states that even if we assume that by 72y the rule is 10X 112 1017 it
would not resolve the query by 7132 11X 01%, since the crime of selling an 72v is so severe for we are denying him the
opportunity to do mx»n. We see that the 87m) considers 72v more severe than even 11X 07%, which is an 0" MO, so
certainly 72v should be more severe than 72031, which is only an 712772 0K, so how did the X n3 resolve the query
by 72y from the ruling of 72v1?!
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derive this from 72»um?!

moon offers his explanation:
= ENPININT MNT IR NYIN Na YWIN N2V DNIIN 13939 W91

And the 1''9 explained that 7712%°¥1 means he plowed it an extra plowing, which is

a 7190 prohibition -
- 11899955 %90 25YUN 19297 NINY 109 Sy N 70900p N W19 N1

And 7971 means as 3"w9 explained it, and even though fertilizing is 70X only

112977, nevertheless it is considered a greater improvement than 77311203, therefore
by 771773 there is an YW "R¥M? NOKX -
= NA»VIN DINT NN

However the proof to 71X 07X is brought from 7733912 which is an n"mn ME°K, just like
X 07%; we derive that just as by 7712701 we do not penalize 11X 112, the same applies by 1K o7X.
We have resolved the X3 in m7102.

n1voIN asks:
= HNNN Y YPONT NINY T2y NNIDT VIV Y990 NN NYP ININ M)

However there is still a difficulty here, how are we resolving the case of 72y from
the case of 7201, perhaps an 72y is different and stricter, for since he is denying

him his observance of the mxn-
= (2,19 97 0V) 13]’\’)‘117”91‘\ "D bs 7992 lzjﬁ’ﬂbN‘lb NHMININT NNIOINNA 290 99N

It is more strict than an n''772 790K as the X3 states in PR 9908 92 pap —

Nv0IN answers:
- 1192 PYHTYI 1PHY 295 DIPN DIVAN 29V PNNNY 1Y IO NYSY 5237 BN 13529 N

And the n''1 says that regarding n°y’2w we need to be stricter than in any other

place, because they belittled it -
= SPYAUN TY PHIYN PIY (1 10pY) PPN §H02 1999NTD

7 See there in 72701 7" '010 2,72 N102 who writes, YD W WM KM DA QYD PWIIN QYT 29 2170 WPR WHon mowIa.
8 This answers (only) the first difficulty with >"ws, for now both 7201 or X 07X are N7 TOK.
% See 7771 7"7 >"wA that it is natural fertilization by stationing animals in the field.
19 According to >"wn that 7201 and 77771 are both fertilization processes, it is understood why by both of them there
is a prohibition to work the field n°y»aw *xxm; however according to Moo that 7201 is an N'"7n MO°R, so we can
understand why by 17201 there is an M0°X for n°y"2w *R¥M, but why is there an MoX for 717773, since it too is merely
an 13217 0K just like 7¥Mpn1, which is n32w SX¥M? INM?!
1 See 7¥1pn1 1"7 >"w that that he removed thorns from the field.
12 See footnote # 6.
13 Just as the X7»3 there states that 72 is more M than 11X 7% (which is a Xn»MR7), here too 72¥ may be more “n
than 72701 (even if it is a Xn»7X7), so how can we resolve 72v from 712017
14 See ‘Thinking it over’.
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As the X3 stated in the end of P17 P10, that the people were suspect regarding
NO°AW (they would not keep it properly) -

- PANN 132 Y0P KT 150290 959 SNN) 7Y
So therefore the X723 correctly brought a resolution from n°y°2w that they did not
penalize the son after the father’s death —

Mmoo responds to an anticipated difficulty:
= 171)51 92 NOT Y07 1122 132 99°9N ©OIWY ¥NRYUNT INMN DY0IPY 165929 13 YIVW T0Y

And regarding a "vw where there is interest payment due, where the ruling is that
we penalize him, and it seems that this 01 is forever, so that even the son cannot
collect, why is it more severe there; Nnoon replies; once they penalized the father
that he cannot collect, the borrower acquired those monies —

Mmoo responds to another difficulty:
= DYNNND N NN AT THN DEN 1IPINY DIV

And regarding the case of two people who deposited money by someone, one

deposited a ;722 and the other deposited two [72%] hundred 2717 -
= (8,319 97 X80 N32) YIIN NAYY 1Y 1¥n390 XY DN YD /49 99INT

Where "1 ruled that all the monies should be set aside until %79%X will come and
ascertain who has the 712 and who the o»nX»n, why do we penalize them and their children —

mooIn responds:
$N1I3 150 RY 209939 95TN1 1N BN 199N5Y 9957 93 919 103D NN

There, the reason we penalize them is in order that they should admit, but if we
would return the 771 to his son, he would not admit.

15 Indeed 72y may be more nn than 11X 078, but it is certainly not more 7n (regarding N03p) than N°y>aw, for since
people were lax regarding n°¥°2w it is appropriate to penalize them even more than by 72v. Once we see that 101p R?
1°IMR 12 by n°¥ 2w, we can be sure that IR 112 1037 X2 by 72v.
16 See 2,7 p"a. According to n" there, the M1 cannot even collect the principle.
17 The o"on penalized the m7n that he cannot collect the 777 (see footnote # 16); this is assumed to mean that the M™% no
longer owes him any money, therefore the children cannot collect on this loan since the m? does not owe any money.
18 Even though we know that each one deposited at least a 71n, so let us return a 73 to each one and the remining 71
should be 112x% ®12°w 7 m1n (as the o°mon rule), nevertheless *0 " maintains that since one of them is a *xn7 (a
swindler) we punish him that he does not receive even his 71n. The question is that after the litigants die, we should
give their children each a 7; why are we penalizing the children since we say here that 191X 112 101p X7?!
19 If we would return a 7an to each one, the *X»7 would think that he has nothing to lose (and perhaps work out a deal
to get some of the third 731), however if he knows that he loses even his own 71», he will readily admit that he only
has a 1111 so he should not lose his principle.
20 He says to himself my 711 is not lost, my children will have it, so he will remain unrepentant.
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Summary
7201 according to °"w1 means to fertilize (which is 7312771 710K), and according to

Moo it means (extra) plowing which is Xn»7IR71 MOX. We are stricter by n°yoaw
more than all other 2°110°X since people are lax in their observance. Generally we are
not 1IMX 112 0P except by nN°27 (where 2712 1197) and N°w°%W 71 to insure that the
°Xn7 admits.

Thinking it over
nooIN asks on *"w1 how can we resolve 71X 0% which 1s X1»7IXT from 1727703, which

is only 1312771.2! However according to mo0n that we need to be “7nn by noynaw
more than anywhere,?? there is seemingly no question?*

21 See footnote # 4.
22 See footnote # 14.
23 See 2py> NIXON
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